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1. (@ A liquid ‘A’, mol formula (C7H60), forms an
oxime does not reduce Fehling’s solution but
undergoes Cannizzaro reaction.

(i) Whatis ‘A’?
(ii) Give the mechanism of Cannizzaro reaction.
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NaOH +CO, H* X
® 0 ’B ,
(CeHeO)  140°C, A (C,H,0,Na)

CH,COCI = D
(C;HO5) " (CsHgOy)

Identify A, B, C and D. 3

(%) 5@ ‘A", TS anfoys 93 CH0 B, w arfeuA
ST ¥ | T 5 Hiom e At Al 7w

afess T e arfifen Bt &)

i) ‘AFng?

(i) wFem srfirfes it frafafy samny
(@ A NaOH+CO, . H*

(CeHgO)  140°C,6 ~  (C;H,O,Na)
CH,COCl . D
A, B, C 3R D =t vg=nfig|

2. Explain why:

(a) Aromatic amines are weaker bases than aliphatic
amines.

(b) Simple airyl halides do not undergo nucleophilic
substitution readily.
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(c) 1,3,5,7 cyclooctatetrene is non aromatic.

(d) Only symmetrical alleanes can be synthesized in
good yields by Wurtz reaction. 1Y2x4
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(M) 1,3, 5,7 WEEAATIZR AT TR B
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3. (a) Draw all conformations of n-butane in Newman’s
projections. Which conformation js most stable
and why ? 2

(b) Assign R/S configuration to the asymmetric
carbon in the following :

COOH D
 HOH—H ) ho——cn,
H—/———O0H H

COOH
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(c) Assign E/Z configuration to the following; 2

CH
HCCH,  CH, p_ S
0) Nc=c ) =
o Ncuo HooC”  “COOH

() nope & e ol ) =i wadt & it @8
| e g Tfr T 2 8§ ofi gt ¢

(@) fFfafafas 4 srmfte == = R/S d&90 wam
COOH D

(i) HO—/—H (i) HO—{-—CHB
H———O0H

H
COOH

(M) Frffad #) B/Z gegw yem S

HCCH,  CH, p_ CH
() \C=C/ (l]) \C=C
a”  “CcHo HoOC”  “CoOH

4. Write the equations for the following reactions when:
(i)  Glycerol is heated with oxalic acid to 110°C,

(ii) Ethylene glycol is heated with ZnCl,,
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(i1i)) Ethyl bromoacetate is reacted with acetone in
presence of Zn , followed by hydrolysis.

(iv) An equimolar mixture of CO and HCI is bubbled
through a solution of . benzene containing

anhydrous AlCl;. 1¥2x4
R siemadt 3 R e o
() TRmda #t siafes sma % 919 110°C 7% 7
frm smar ®) .

(i) qf‘aa‘hmmaﬁaﬁmcha_smnﬁﬁmm%u

(ii) 3 FANERE W Zn F Neht F Whew 6
sl w08 Ift & o 36 9’ SeEeE B
Sici]

(iv) CO ¥R HCL ¥ wwiicfy fam = i & W

faerd ¥ R gegern s @ Rt it Alc
e g

5. (a) Explain keto-enol tantomerism with reference to
aceto acetic ester. 2

(b) Starting from ethylacetoacetate, how will you
obtain the following :
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(1) acctonylacetone (ii) Crotonic Acid (ii1) Adipic

Acid 4
(%) Uil e & ved 4 AA-Fa e H
STEAT Hife |
(@) SuratHid) e & s as am fretafes #
L FR U ?
() WefertEeR (i) FRf et Gii) Al
3T

6. Write short notes on any two of the following :
(al) Sandmeyer Reaction
(b) Hydrolysis of ester

" (c) Reduction of nitrobenzene under different reaction
conditions. 33

Freferfiga 7 @ el @ vt Roafirt R
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